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Internal Assessment Test 2 – October. 2019 

Sub: Elements of Mechanical Engineering Sub Code: 18ME15 Branch: ECE,EEE,ME 

Date: 24/10/2019 Duration: 90 min’s Max Marks: 50 Sem / Sec: I/ I, J, K, L, M, N & O OBE 

Answer any 5 Questions MARKS CO RBT 

1. Explain construction and working of Babcock Wilcox Boiler [10] CO2 L2 

2. Derive the expression for length of belt in a cross belt drive.  [10] CO3 L1 

3. Write about extraction of energy from wind. [10] CO1 L1 

4. Write the differences between welding, brazing and soldering. [10] CO3 L1 

5. Explain construction and working of Francis Turbine with neat diagram. [10] CO2 L2 

6. Determine the number of teeth and speed of the driver gear if the driven gear has 60 

teeth of 8mm module and rotates at 240rpm. Two spur gears has a velocity ratio of 

¼. Also calculate pitch line velocity. 

[10] 

CO3 L3 

7. A shaft runs at 80rpm and drives another shaft at 150rpm through belt drive. The 

diameter of driving pulley is 600mm. Determine the diameter of driven pulley in 

following cases. i) t=0, ii) t = 5mm iii) t = 5mm and St = 4%, iv)t = 5mm, S1 = 2%, 

S2 = 2% 

[10] 

CO3 L3 
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